Order of
Operations

Work Pack

Name:

Order of Operations

Color the boxes with correct ansi
incorrect answers. Each row has | | Name:
in each row to find the word.

Order of Operations
Mental Maths

Order o
I T Answer the questions. M
15+3%x2* [8x(3x4)-9 letters to find your answ | Day 1 Day 2 Day 3
=41 =90
s m 5-9+72+(3x3)=__ 1.24+8x5=z__ ||1.40-5x5=z_ ||t 14+15x2=_
6x6+9x6 |5+ (Oxd)-12 2.12-4x3-= 2 64-8x8= 2.32+7x4x
=80 =29 I-12x12+2%x3=_3.16+5x5+= 15+6x7= 3.12+40:5+=
E T .20+8x8= 30-Tx4-= 4.9+49:7=
5x8+9x2 |20+48 6 B-9x9+7x7:=
—|5.13+9x 3= 42-6xb6= 5.8+56+8=
- 58 - 28 -
.32:8x5= 2 = 6.14:2x7=
B s Z-42+42x2= x 3" x3x2=_ X _
9 x (102) 32-4%x2 7.8x8+2*=__ M7.8x2x3:= 7.63+7x4z_
=45 =0 H-15x2+5x6= 8.9+3%x9: 96:12+8= 8.2*x2x2=
1E6' 1624 I:O 5% %2 9.5x5x5 = 42 + 7 x8= 9. 5x4x5=
- (16+4) e T-20-3x3+11=__
-4 - 100 10.49+7x5=__ Pl10.9x9x2= 10.60+8x 5=

Score /10 Score /10

Score /10

20 166 48 48

Time Time Time
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Order of Operations

Solve the equation.

1. 5x(8 + 3)+ 20 =

2. 5x2% + (4 + 3) =

1" PTéevView

116 x 2 + 3 x 8 =

6.9 + 9% x (22 - 20) =

7.12x8 + 63 +7 =

8. 108 + 12 x 32 =

9.5 + 5+ (4x3)-=

10. 12 x 11 + 144 = 12 =
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Order of Operations

Name:

Worksheets 1

Solve the equation.

1.4 + 5x8 =
2.9x12 + 44 + 11
3.16 x 2% + 50 =

4. 63 - (6+3)x4=__

5. 4x (8 +

Slambo
Resources

Order of Operations

" Prav

6.72 -+ 8 + 6 x6 =

= 7. (3 +4)x 2% =

8.24 + (3 +5) =
9. 18 x 2 + 3

10. 32 x 22 -

oW |-

Name:

Worksheets 2

Solve the equation.

1. 11 + 52 x 2 =
2. 100-(4x4)x2 =

3.64+(12-4)+9 =

4. 17 + 6% - 15

5. 12 + (3% x 3)

6.9x7 +5x12 =

7.12% - 4 x 11 =
8.96 -+ (4x3)=__

9.7* x2 + 12 =

10. 60 + 12 + 25 =



Order of Operation - Exit Tickets

Name: Name:
15+5°x(9+3)=__ | 15x(24+-8)=____
_Name: Name:
44 -4 x (B+7)=__ 9x9+32=__
_Name: Name:
2+(22-11)+14=__ | 28:4x32=___

60-88+8x2-=
Name: Name:
144 - (22-10)= ___ 16 x (22 +11)+9=_____
_Name: N Name:
63+7x8=___ 14x2+8x5=__
_Name: Name:

52 x22%-100 = 12x8+32=




Name:

Order of Operations

Color the boxes with correct answers and cross out boxes with
incorrect answers. Each row has a word. Unscramble the letters
in each row to find the word.

I
15+32% x2°

T
8 x(3x4)-9
=90

5+(9x4)- 12
=29

20+48 -6

S
112 - 11 x 11

=0

R
20 + (4x3)
=32

7xb+4x4
= b1

Answer.




Name:

Order of Operations

Answer the questions. Match the numbers with the
letters to find your answer!

S-9+72-(3x3)=____ A-70:7x3+8=

I-12x12+2% x3= R-42-6+8x5-=

P-40+5+2x6+=

T-20-3x3+11= N-6+bxbh+14 =

20 156 48 48 38 156 17

130 51 22 22 51 47

22 60 38 45 9 60 156 20 17




Order of Operations
Mental Maths

Day 2 Day 3
1.40-5x5-= 1.14+15x2 =

2. 64-8x8-= 2.32+7 x4:=

. 9+32x9=___ |18.96-12+8=___ ||8.2*x2x2=____

DxDxb=___ |9.42+-7x8=__ 9.5 x4x5=____

1049 +7x5=__ M10.9x9x2=____ H10.60+8x5=___
Score /10 Score /10 Score /10

Time Time Time
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Order of Operations

Solve the equation.

1.5x (8 + 3)+20 =75

2. 5x2% + (4 + 3) =27

1> PTeview

J16 x2 + 3 x 8 =56

6.9 + 9% x (22 - 20) = 171
7.12x8 + 63 +7 =105
8. 108 + 12 x 32 = 81
9.5 + 5+ (4 x3)=17

10. 12 x 11 + 144 = 12 = 147



Rmz?es Name:
-

Order of Operations Worksheets 1

Solve the equation.

1.4 + 5 x 8 = 56 6.72 -8+ 6x6 =45
2.9x12+44 +11 =112 7. (3 +4)x 2% = 28
3.16 x 22 + 50 = 114 8.24 (3 +5)=3

4. 63 - (6 + 3) x4 = 28 9.18x2 + 3

L BBVIG

Reaurvs Name:

Order of Operations Worksheets 2

Solve the equation.

1. 11 + 52 x 2 = 61 6.9x7 +5x12 =123

2.100-(4x4) x2 = 68 7.12% - 4 x 11 = 100

3.64+(12-4)+9 =17 8.96 -+ (4x3)=8
4. 17 + 6% - 15 = 38 9.7*x2 + 12 = 110

39 10. 60 + 12 + 25 = 30

5. 12 + (3% x 3)



Order of Operation - Exit Tickets

Name: Name:
15+5% x(9+3)=90 15 x (24 = 8) = 45
 Name: Name:
44 -4 x (5+7) =132 9x9+32=-90
" Name: Name:
2+ (22-11)+14=74 28 -4 x3%=63

60-88+8 x2=238

Name: Name:

144 - (22-10) =12 16 x (22 +11) + 9 = 41
_Name: R Name:

63+7x8=72 14x2+8x5=68
_Name: Name:

52 x22-100=0 12 x8+3% =105




Name:

Order of Operations

Color the boxes with correct answers and cross out boxes with
incorrect answers. Each row has a word. Unscramble the letters
in each row to find the word.

I
64 + (18-10)

5+ (9x4) - 12
- 29

112 - 11 x 11
=0

16 = (16+4)
=4

= 100

R
20 + (4x3)
= 32

7xb+4x4
= bl

I AM THE BOSS HERE




Name:

Order of Operations

Answer the questions. Match the numbers with the
letters to find your answer!

S-9+72-(3x3)=17 A-70-7x3+8=238

I-12x12+22x3=156 R-42:-6+8x5=47

Ax9+7 x7 =130 E-16+4x6+11=5

L Breview.,

P-40+5+2x6=20

T-20-3x3+11=22 N-6+5x5+14=45

I S

48 48
T T R
22 22 D51 47

A N C H I P S
38 45 9 60 156 20 17




Order of Operations
Mental Maths

Day 1
1.24+8x5=64

.12-4x3=0

.9+3%x9

.bxb5x5 =125

10.49 -+ 7x5=35
Score /10

Time

Day 2
1.40-5x5=15

2.64-8x8=0

8.96+12+8=16

9.42 + 7 x8 =48

10.9x9x2=162
Score /10

Time

Day 3
1.14+15x 2 = 44

2.32+7x4=60

8.22x2x2=16
9.5x4x5=100
10. 60 + 8 x 5 = 100

Score /10

Time




